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5951 |/\wHR™y 313D2 L WiER= 0.65 m3 THEE=E 0.48 m3 | FrRAES—T /(%)
5952  |/\wHiR 340F UHD WiERs= 1.4 m3 THEE=E 1.0 m3 [FrRES—F N\ GE)
5953 |/\wH7R™ 349F-2 WiEs= 1.9 m3 THEE= 1.4 m3 [FrRES—Dw/\UGE)
5954 [/\wHERY 349F L-2 WiERs= 2.1 m3 THEE=E 15 m3 [FrRES—F UG
5955 |/\wHERS 352F-2 WiEs= 2.1 m3 THEE= 15 m3_|FrRES—T /03
5956 |/\vwHiR SK210HD-10 WiERs= 0.80 m3 THEE=E 0.59 m3 AN )LaEH#GR)

5957 |/\wH7R™ SK210HLC-10 WiESs= 0.80 m3 THEE= 0.59 m3 [aR)LaE#GR)
5958 |/\wHiR SK260LC-10 WiERs= 1.00 m3 THEE=E 0.76 m3 AN )LaE#GR)
5959 |/\wH7R™ SK350DLC-10 WiESs= 1.40 m3 THEE= 1.00 m3 [aR)LaE#GR)
5960 |/\vHR™Y ZH200-6 WiERs= 0.80 m3 THEE=E 0.58 m3 [BITE#GR
5961 |/\vHRY ZH200LC—6 WiEs= 0.80 m3 THEE= 0.58 m3 [BATE#GR
5962 /NSRS ZX120-6 WiERs= 0.50 m3 THEE=E 0.39 m3 [BITE#GR
5963 |/\wHRY ZX130K-6 WiEs= 0.50 m3 THEE= 0.39 m3 [BATE#GER
5964 |/\vHR™Y ZX135US-6 WiERs= 0.50 m3 THEE=E 0.39 m3 [BITE#GR
5965 |/\vHRY ZX135USK-6 WiEs= 0.50 m3 THEE= 0.39 m3 [BAITE#GR
5966 |/\vHR™Y ZX135US0S-6 WiERs= 0.45 m3 THEE=E 0.34 m3 [BITE#GR
5967 /NSRS ZX160LC—6 WiESs= 0.60 m3 THEE= 0.45 m3 [BAITE#GR
5968 |/\wHR™Y ZX200-6 WiERs= 0.80 m3 THEE=E 0.58 m3 [BITE#GR
5969 |/\wHRY ZX200LC—6 WiESs= 0.80 m3 THEE= 0.58 m3 [BAITE#GR
5970 |/\wHER™Y ZX210H-6 WiERs= 0.80 m3 THEE=E 0.58 m3 [BITE#GR
5971 |/\wH7R™ 7ZX210LCH-6 WiEs= 0.80 m3 THEE= 0.58 m3 |HIrEREGR)
5972 |/\whHERY ZX210K-6 WiERs= 0.80 m3 THEE=E 0.58 m3 [BITE#GR
5973 |/\wHERY ZX210LCK-6 WiESs= 0.80 m3 THEE= 0.58 m3 [BAITE#GR
5974 |/\wHERY ZX225US-6 WiERs= 0.80 m3 THEE=E 0.58 m3 [BITE#GR
5975 |/\wHRY ZX225USLC—6 WiEs= 0.80 m3 THEE= 0.58 m3 [BAITE#GR
5976 |/\vHR™Y ZX225USR-6 WiERs= 0.80 m3 THEE=E 0.58 m3 [BITE#GR
5977 |/\vHERY ZX225USRLC—6 WiESs= 0.80 m3 THEE= 0.58 m3 [BAITE#GR
5978 |/\wHR™Y ZX225USRK—-6 WiERs= 0.80 m3 THEE=E 0.58 m3 [BITE#GR
5979 |/\wHERY 7X225USRLCK—6 WiEs= 0.80 m3 THEE= 0.58 m3 [BAITE#GR
5980 |/\wHR™Y ViO80-1B WiERs= 0.28 m3 THEE=E 0.21 m3 | —EH#*EE)
5981 |/\wHRY PC30UU-6NO WiESs= 0.09 m3 THEE= 0.07 m3_|GR)/DEMERR
5982 [FS5H3—1anL R430E AC WiERs= 0.4 m3 THEE=E 0.3 m3 |(#R)IRE

5983 [F5H4—anN)L R530E AC WiEs= 0.5 m3 THEE= 0.4 m3 |(#R)FR%E

5984 |FSHE—anN)L R630E AC WiERs= 0.6 m3 THEE=E 0.5 m3 [(#R)IR%E

5985 |FSHA—Ian)L 6SDTL8 AC WiEs= 04 m3 THEE= 0.3 G EEEE T
5086  |[FS5H48—aniL 6SDTL10 AC WiEs= 0.5 m3 THEE=E 0.4 m3 [(BR)E A B Ehigit
5987 [F5H45—anN)L 6SDTL12 AC WiEs= 0.6 m3 THEE= 0.5 m3 [(¥k)E A BEhisig
5988 |[#O—5—HL—> SCX800E-C2 & ERED 80 R X 3.2 m |BIEREEMERIL— ()
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59089 [HA—S5—4HL—> GTC-1200-2 mERED 120 tH X 3.0 m |(BR)EF/
5990 [RA—JLHL—2 GR-500EXL-3 i _ERE 51 tH X 25 m ()45 ./
5991 |/ RA/—JLIL—2 KRM-20H-F mLEED 20 tH 25 m (BRI EMERT
5992 [/AAJO/\ T— SR-60 EiEh 0~767 kN #f@héﬁz 1200~3600 cpm |ZEFNIT (%)
5993 |/\/J0O/Nv— HV-300 EiEh 398~929 kN ERENE 1100~1680 cpm [FAFITEGE
5994 [A—ILT— S iRBIME  [SRD-1200HCREI=ykSPU-200)| ERARIEHIFZE 1200 mm =T RE)
5995 [A—ILT—1 U BN  [SRD-1500HCREI=vykSPU-200)| R AIRHIFZE 1500 mm =T R
5996 |[A—ILH5— LS HREI#%  |SRp-1500H- I GhE1=yrsPU-200) RAIEEIE 1500 mm =T (%)
5007 |A—ILH— 5 PEEI#%E  |SRD-1500HMGEEI=vrSPU-200)| = AIREIE 1500 mm =FHET ()
5998 [A—ILF— S EBI#E  [SRD-3000HIIGEE1=vkSPU-510)| ER RIEHIE 3000 mm =l Ee))
5999 [7—XAFYJL SR-30 n—xﬂﬁiﬁlhi 1500 mm = AEHE 493 m_[YLILAYI DI (BR)
6000 [REHIO—F— H600KS HlisE 0.64 t BRI
6001 [IREHIO—S— H650KS Hli "" 0.67 t B ST (3%)
6002 |ZERITHat PDSG1400S-5C5 uiﬂji 397 m3/min £A 1.4 MPa |Jbi# T 3£ (%)
6003 | HBFEEH SDG25LX-5B1 EREE 25 kVA % T 2 (k%)
6004 |HBHFEH SDG25LAX-5B1 THE= 25 kVA ST (%)
6005 |HBFEEH SDG45LX-5B2 EHRE=E 45 kVA Jb#% T 2 (k%)
6006 |HB)FEH SDG45L AX-5B2 THE= 45 kVA ST (%)
6007 |HBFEEH SDG60LX-5B1 EREE 60 kVA s T 2 (%)
6008 |HBHFEH SDG60LAX-5B1 TEHE= 60 kVA ST (%)
6009 |HBHFKEHE NES300TK EHRE= 300 kVA EEEXTETHED)
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